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[. Use the definition of a. limit to show thal

o [i x*—|
([07) () x‘_b"" e =
(10%) (b) )‘('_;Y’oo x\~\ =0,

2. Prove or dis prove that
(10%) () if Fx)is continuous ot x=a, then foors
differentiable ot x=o.
(10%) (b) i€ £00 is differenticlle.ct x= o, then £x) 15
Continuoys-eltiX = e,
3. Show that
(10%) (o) i£ F&)=0, CRERTELG TS 'mc;reaéfng.
(10%) (b) if £00L0, fthen Fixy1s deckansing.

4. Suppose money, [ being transfered-continuausly /into an account over
a time period 0 < X & Tt a rate given biEhe fFunction Fx) and the
account earns interest abanannualiale r compounded continuously .

(10%) @) Show that'the future value over the term T (s X;C(x)er(’r‘x)dx.
(1o%) (k) Show that the presenbfotne ouec € term ™ (s S;FRx)émdx,

S. Let z=Ffx,y) be an objective Lunction and g(x,y)=0 be o

Constrained eguation and A be a Lagrange multiplier.

(10%) (o) Show that the method of Lagrange multipliers works,
(10%) (b) Interpret the meaning of X intherea) world and

Justity your answer,
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. Xﬂ+ \(\/x ancl V\/z 176 Subéfmces 0-{: a. yector SF@QQ V. Prove +hat
Wt UWz (S a Su‘oSrau, "Jt\‘ V i—[‘\Omo{ Onf\/ f—(: W‘ CW.or Wa,EWI.

USFB)

Z Lét l bcm’mear +rans‘rormo€tnon o‘equec{ b‘f 1=, ﬂ)— (3’)6+2‘j ZL 6%)

Let (3 $01.0), 10 ‘)§ and =31, O)k be two ordered bases for R
Find some nons:njufar motrix O such that ET]J) Q, [T]GsQ Czofhb

3. Tt can be shown that +he Vectors aﬁ (2,-2, 0, ?{\f( L4,-2), f3=(~$,12,¢)/
W=(1,37,711), afd As=(-3.75,%) cjcne,ra'b. N subset ot
§ﬁ.,m,“.,a\5‘g et is @ wasre T IR UB?‘@

q F}’O\l'&"’l"wt f*Ii Mé anr\ UF) Canhn ]96 wriﬁem n +he qﬁorm M: (A- B>

where A amd C orb Sare Wiathices, Hhep deblH{= det (&) - det(C).
(15pts)

S.let A=[27 0 | Ko ACINUSHS)

&=L |

L. Let A= [; “_,z ZI Evalute A%&A—(Ef\ +100A -l6aA+/o/I
| 2 2 (}O{T{'s)
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